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664797 s: Mdev= 0.32090E-14 Tdev= 1232 ps
332399 s: Mdev= 0.36686E-14 Tdev= 704 ps
166199 s: Mdev= 0.26309E-14 Tdev= 252 ps
83100 s: Mdev= 0.20967E-14 Tdev= 101 ps
41550 s: Mdev= 0.25005E-14 Tdev= 60 ps
20775 s: Mdev= 0.29965E-14 Tdev= 36 ps
10387 s: Mdev= 0.43837E-14 Tdev= 26 ps
5194 s: Mdev= 0.61913E-14 Tdev= 19 ps
2597 s: Mdev= 0.83697E-14 Tdev= 13 ps
1298 s: Mdev= 0.13296E-13 Tdev= 10 ps
649 s: Mdev= 0.25166E-13 Tdev= 9 ps

325 s: Mdev= 0.52762E-13 'Il'dev: 10 psl*.

le-13 :

le-14 o -

le-15 T T T
100 1000 10000 10000@000000

1e—-08 : : :
1e-09 - o °F
le-10

le-11 +

le-12 T | |
100 1000 1000010000a.000000

Tau /s



